RR (BRRWEl XE | BHE | BE

&M 4 &£ 12 B 23 H

F E M B A R E

IHEH | METIERANEAEHESIE
R
EAEH
T % |RwKEEsL>EE & A B T
i B RTE
M50 Y S-1EREIMAETUNDEDQEN SIS
ErHBD, For0—FETo-EARIEE
S - RHARSLOL L. BEEMES ARS A TILERE

Mhvbod TE=F~QEHTE| ZTbGELNC

i .

RE|EAER A 15

AR £HOKVE ASLEZER




S 4 &£ 12 B 23 H

FEMIELREREAEREEZETIS FEMEARE
F E 4% o 104,918,000 M
(ZE{MHs & 95,380,000 M)
# b Hm = HME | B & 5 &+ %8 g &
EEIEE 1 = 73,200,779
* & B 1 = 22,179,221
HBEREE 1 = 9,697,742
HisERE 1 o 3,267,777
—REEE 1 = 9,213,702
=) Hi (I410) 95,380,000
HEMMENEE | 10% 1 = 9,538,000
& 5 |((I4+IDI4m) 104,918,000

AR £HOKVE ASLEZER




(BLETHBRERE)

No. % 7 ] = BB B @ ) &
O |BE#& LT HBAREE
W3.0xH1.8
FrRA—HF—} 6/ B 1| BT 41,100 41,100
1268
ZBEEEB 2R HEY 252 A 14,520 3,659,040
" FEEE 13| A 14,520 188,760
AEREERRE 138F 1] =% | 2830000 2,830,000
ABERERERAE 138 1| = | 2420000 2,420,000
E R ERER FLFIER AR (#1)
EYAEE 734 | m2 64 46,976
" FLFIER AR (#1)
E¥s5 E h50cm 96| m 32 3,072
" P #IERA (#1)
{R B A8 1150cm 126 | m 4 504
" HHE
EEEES 1] = 70,560 70,560
& 9,260,012

EH £H3<K0E ALLEREER

No.3



(FEEAAR)
No. £ Fh HE | B = %A &8 i &
EEIRE
Al |BEIEHFHERES) 1 ®
A2 |BETE(HERED) 1 % 68,675,819
Bl |ERREIE(FHEZEZED) | C: o
B2 |[EREHEIE (ERES) 1 ® 1,932,881
Cl | IEFERES) | ®
C2 |HMmekiE TE (SBRES) 1 R 2,592,079
& 73,200,779

MEM £H-3<0EB




(3 B BIANER)
No. £ Fh HE | B = %8 & &8 i &
EEIEE

A2 [BEIE (HERES)

1 |EERSRISE 1 = 4,585,920

2 |EBRBELISR 1 =X 12,287,498

3 | REEREREIS 1 ® 7,336,908

4 |SMERETIE 1 ® 1,662,393

5 |E#hTE 1 =X 4,891,061

6 |PARNRAMREISE 1 = 36,545,390

7 |REMUNE 1 2 1,366,649
& 68,675,819

MEM £H-3<0EB




CEERISEN)

No. # b b1 E |¥ = |E6I| B {f & 28 ik &
1 |EERETE
EX12mEE
SNER RIS e AW600 4h B 720 | m2 1,697 1,221,840
E10mIZE
HERIS 4 A 399 | m2 1,470 586,530
¥i—b 40 A 900 | m2 1,387 1,248,300
BiaM#E2,MA
i K AR EA 72.0 | m2 14,900 1,072,800
B
H—KI7z R H=1.8m 850 m 5,370 456,450
f 4,585,920

MEM 55K VHE ALEEEHR No6




CEERISEN)

No.

# b b1 = (B B i 28 ik &
2 |EBEETE
MmERITSE FouELH Tk 1| = 10,928,000
Ao s 133 [ m3 9,690 1,288,770
+ R Rk 16.8 | m3 4210 70,728
i 12,287,498
FAEM FHO<K DE AdLEsER No.7




CEERISEN)

No. £ Fp 1 B | E|BEA B @ & &g g %
3 | AFEREHEIE
RCERIARZE WAL 701 | m3 8,020 5,622,020
R ERE 1 A2 K BEIAAH 734 | m2 1,740 1,277,160
e 900x2000 33 | &R 2,890 95,370
i 552 Bk 1800x2000 36 | EAR 5,490 197,640
Az EEE 900x2000 24 | &P 1,250 30,000
A EEE 1800x2000 19 | B8P 2,380 45,220
B FEER 16.2 | m2 4,290 69,498
) 7,336,908

MEM 55K VHE ALEEEHR No8




CEERISEN)

No. 4 Fp 1 B | E|BEA B @ &g g %
4 NERETE

BARE PAREEEAR 12] & 13,720 164,640
EREERER 63| & 1,410 88,830

BABKERIE 17| ¥ 2,360 181,720

SEE 486 | m3 4810 23,376
1ERE 353 | m3 18.700 66,011
CBHIE J£100 2.80 | m2 2,880 8,064
AV —rEE 1.50 | m3 4,810 7,215
WEEE S 29.9 | m2 1,330 39,767
HEHE [1-75x75 L41.95m 2 |AT| 19600 39,200
UFERE W180 0.35 | m3 4,810 1,683
PCIERBRE 100x150 0.024 | m3 4,810 115
Boov s 330x300x60 0.08 | m3 4,810 384
IBRARREE% 3509 h1. 45m 1| &R 2,450 2,450
T RavEE 9.20 | m3 4810 44,252
BT AI7IMRERE 415 | m2 1,590 659,850
RCAE#E 247 | m3 4810 118,807
B NUFEERE 785 m 510 40,035
2z RAFE $BAR_ 54.5m2 60.5| m 2,909 175,994
) 1,662,393

MEM b5 0H ALEELEE No.9




CEERISEN)

No. £ Fp 15 #H =B B % imE &
5 |Ei#hTE

Hw L)1 L i dth T3 779 | m2 750 584,250

29— F27_S15 10.1 | m3 20,600 208,060

2Y—b F18 S15 149 | m3 18,800 28012

R TEE EXxps 1] @ 90,000 90,000

EiEME 10.1 ] m3 800 8,080

EEFME LA 10.1 | m3 800 8,080

TEEFM EgTay 1.49 | m3 17,000 25,330

Bp 127 | m2 3,650 463,550

B @ i 127 | m2 250 31,750

855 SD295 D13 836 | kg 105 87,780

MT#AST 836 | ke 46 38,456

& 836 | kg 5 4,180

BARER M 447 | m3 4,350 19,444

B

H—F2x2 2R H=1.8m 61.8| m 5370 331,866

f&ha w150 549 | m 5,000 274,500

HELIIVR L EER 1.00| m 26,048 26,048
EIRYLE TS

FARI7ILEhE A-5-15 B4 415 | m2 5.300 2,199.500

LEEIE 66.5| m 6,950 462,175

B 4,891,061

FAET FHo5< VE ALEIER No.10




CEERISEN)

No. £ Fp 1 = = (Bf| B {f &g

6 |[FARNZAMBEISE
AEE  HpEE W ff NO25 = 34,779,300
A 1fEEF X FANARIYIA  NO20 50.3 | m2 1,630 81,989
AEE EiR FAIZMEYUT L NOB 416 | m2 1,850 769,600
AfE EBLEK ILAUREK  NO4 143 | m2 1,850 26,455
AEEXRIHR—ILER  [EES—F NO9 18.1 | m2 1,230 22,263
ALE1 BFIEFRER [JEE S —k  NO13 6.97 [ m2 1,230 8,573
AEEREE L EREH
ZEMERXH FARZZ NOi7 24.7 | m2 1,600 39,520
A FEFEER K EES—k NO19 269 | m2 1,230 33,087
AEE2REER T ik YZhhiKR NO24 183 m 216 3,952
FeAEM
eI P UL —ERa 26.1 | m3 1,130 29493
A BER—FE 26.1 | m3 6.290 164,169
13 i BEER—FE 26.1 | m3 1,810 47,241
o5 TOMMDEXEEY 26.1 | m3 20,680 539,748

E 36,545,390

MEM £ DHE

S

==




CEERISEN)

No.| 4 R 1 ¥ =B B @ &g I}
7 |HEHMNE

A HF - B REER 282 | m3 2,900 8,178
EIS 248 | m3 2,000 4,960

BER—FE 16.6 | m3 2,000 33,200

B 28.3 | m3 2,900 82,070

R (B 596 | m3 2,000 11,920

EXR(AR-S) 34.7 | m3 2,900 100,630

1 il A< (AM) 138 | m3 1,390 19,182
aVHS-R5Y 529 | m3 5,105 2,700,545

¥ - MR AR 2.82 | m3 2,500 7,050

BT 2.48 | m3 860 2,132

BEER—FE 16.6 | m3 1,810 30,046

BE 28.3 | m3 3,160 89,428

EXRGE R 5.96 | m3 1,390 8,284

EXRARSD) 347 | m3 1,390 48233

LUy AL () 13.8 | m3 5,200 71,760
aVHS RS54 529 [ m3 3,055 1,616,095

I F - PRz 282 | m3 12,000 33,840

EIS 248 | m3 7,200 17,856

BER—FEE 16.6 | m3 8,000 132,800

B 28.3 | m3 7,200 203,760

ARG 596 | m3 8,000 47,680

EXRAR-D) 34.7 | m3 10,000 347,000

RO T H3 125 t | A 34000 A 4,250,000
) 1,366,649

MEM b5 0H ALEELEE
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LION

000950 @K
00'095'0L g
00'09L°1 1 w | WoE WO
e : , PRI SEHO YR RET HEXIIER
PR s L e BAYC1 B 4o W00e Y4 E + 2W000 M E
= g Bz W % | DE| B Og O T o = i
(o4 E — R ETE R Y
(BRL YWHFE ¥ 2 v TRV 114




(REEREAERE)

No. % R #HE | B & 28 & | g &
(=)
A EEAGE 1 =® 1,144,010
B BEERE 1 =® AXT% 80,080
C Z D fth [ 1 = (a/(1—a)) 616,005
Ax(a/(1—a))
= 35%
D —REEE 1 = (BALT—=81)) 990,820
(A+B+C)x (B /(1—R8))
B 35%
& 2,830,915
G102 2,830,000

PIELTH E55<0E AR




No| & N Elgp E|Bu| 2 E| 2 & i
1 | RESHIHAEEREAGR
HEetins FLETA 036 A 51,200 18,432
" HiBfiB 036 A 41,600 14,976
" HRERC 036 A 32,800 11,808
R FEE HiBfA 050 A 51,200 25,600
" BB 050 A 41,600 20,800
" HiBhC 050 | A 32,800 16,400
IVt 108,016 |
(RiEBYARE:
70m LA_E130m %] FLEfA 051 A 51,200 26112
FBhB 061 A 41,600 25,376
FEfC 063 A 32,800 20,664
B8 012 A 29,000 3,480
& | & 75,632
REEWA
70mi 5 i FHIERE 0.80 75,632 60,505
INEE 5| & 60,505 302,525 (@
AEEWA
70miLLE130m ki WIEE 1.00 75,632 75,632
INEE 5| & 75,632 378,160 |@
REEYA
130mi Ll E200miskid  |fEER 1.30 75,632 98,321
INEt 1| & 98,321 98,321 |@
REEMA
200m L E300miKiE  |fIESE 1.80 75,632 136,137
INEE 1] #& 136,137 136,137 |®)

EH £H3<K0E ALLEREER

No.19



No. e ¥R 1 B =B B | & %8 & &
[REEMCHE.
70m L F130m &) FERA 040 A 51,200 20,480
HiEfB 046 A 41,600 19,136
HEmC 048] A 32,800 15,744
Hitig 012 A 29,000 3,480
E 1] #& 58,840
REEWC
70mEiH fHIEE 0.80 58,840 47,072
INEt - = 47,072 ®)
REEMC
130m LLE 200m & HIEE 1.30 58,840 76,492
M - ## 76,492 @
[FEREEY 1 HE:
200m L. E400mEE] | HERA 099 A 51,200 50,688
FiEmB 132] A 41,600 54,912
HEmc 128 A 32,800 41,984
Hitig 012 A 29,000 3,480
s 1] # 151,064
EREERMA
200mi & i WIEE 0.80 151,064 120,851
/pEE 1] #& 120,851 120,851 |®
i 1,144010 [(D~@& &t

EH £H3<K0E ALLEREER

No.20



(REERBEEE)

No. £ £ HE | B = %8 * | 5 &
(EHEA)
A BEAGE 1 = 978,339
B BEERE 1 =® AXT% 68,483
C Z D fth [ 1 = (a/(1—a)) 526,797
Ax(a/(1—a))
a= 35%
D — R ERE 1 = (B#T—=81) 847,333
(A+B+C)x (B /(1—R8))
B = 35%
& 2,420,952
[51¢.) 2,420,000

PIELTH E55<0E AR




No| & N Elgp E|Bu| 2 E| 2 & i
1| | RESRBETEREAGR
HEetins FLETA 036 A 51,200 18,432
" HiBfiB 036 A 41,600 14,976
" HRERC 036 A 32,800 11,808
R FEE HiBfA 050 A 51,200 25,600
" BB 050 A 41,600 20,800
" HiBhC 050 | A 32,800 16,400
IVt 108,016 |
(RiEBYARE:
70m LA_E130m %] FLEfA 048 | A 51,200 24,576
FBhB 048 | A 41,600 19,968
HENC 045 A 32,800 14,760
B8 012 A 29,000 3,480
E 1| #& 62,784
REEWA
70mi 5 i MHIEE 0.80 62,784 50,227
INEE 5| & 50,227 251,135 |@
AEEWA
70miLLE130m ki WIEE 1.00 62,784 62,784
INEE 5| & 62,784 313,920 |@
REEYA
130mi Ll E200miskid  |fEER 1.30 62,784 81,619
INEt 1| & 81,619 81,619 |@
REEMA
200m L E300miKiE  |fIESE 1.80 62,784 113,011
INEE 1] & 113,011 113,011 [B

EH £H3<K0E ALLEREER

No.22



No. e ¥R 1 B =B B | & %8 & &
[REEMCHE.
70m L F130m &) FERA 039 A 51,200 19,968
EEfB 039 A 41,600 16,224
HEmC 033] A 32,800 10,824
Hitig 012 A 29,000 3,480
E 1] #& 50,496
REEWC
70mEiH fHIEE 0.80 50,496 40,396
INEH - i 40,396 ®
REEMC
130m LLE 200m & HIEE 1.30 50,496 65,644
s - i 65,644 @
[FEREEY 1 HE:
200m L. E400mEE] | HERA 1.00] A 51,200 51,200
FREmB 100 A 41,600 41,600
HEmc 106 A 32,800 34,768
Hitig 037 A 29,000 10,730
s 1] # 138,298
EREERMA
200mi & i WIEE 0.80 138,298 110,638
/pEE 1] #& 110,638 110,638 |®
i 978,339 |D~® &%t

EH £H3<K0E ALLEREER

No.23



(B HAAR)

No. % R #HE | B & Eiz] £ g &

B2 |BEREEIE(HMERESD)
(REREISE)

1 |EBUTEE 1 =® 672,697
(REERETSE)

2 |EhAEklE 1 = 74,791
(REERELS)

3 |S5ERE 1 = 50,528
(REEREISR)

4 |BENASKEERANR 1 = 117,998
(g ESfETE)

5 |EATERR 1 = 661,473
(N ERETLSE)

6 |BIHERNE 1 = 12,296
(IR EHREIE)

7 |BhhEE 1 = 157,930
(NEERETS)

8 |EhAE%(E 1 = 7,685
(I ESETE)

9 |EEElR 1 ® 40,553
(INEEEXEITSE)

10 | B BN RN i 1 = 126,870

11 |FEMNIE 1 = 10,060

F 1,932,881

MEM £H-3<0EB




(& B 5 AER)

No. 22 o i B |\ ¥ E|BEA B ff & &8 i
ERERELIE
(FEERMETISE)
1 |BATERE
ERE (CP39) 130| m 484 6,292
BIRE (GP54) 420| m 1,132 47,544
E#RIV5.55q EA 130 m 62 806
ELRIVE0 ER 120 m 185 2220
F—7'L_CVT-38Sq [EK 380| m 424 16,112
fr—7')l_CV-14S5g-3C |&R 130| m 265 3,445
TRy IR 400 X 400 X 300wp 5| @ 2,700 13,500
TRy IR 300 X 300 X 200wp 1] @ 1,968 1,968
5 A BFEA 25 88 ﬁ;jn 600x250 1| @& 20,000 20,000
EATAR(L-1) ;%?%SOOxZDO 1| & 20,000 20,000
BATR(L-2) Eﬁimmzoo 1| @& 20,000 20,000
N—R BHR40w-1 KT &Y ul & 2,590 88,060
N—ZHBEH20w- 14T HY 5| & 1,660 8,300
R—2 FBBA40w-24TH! 511 & 3,230 184,110
N—R BB 20w-24T 3¢ 4| & 2,090 8,360
~R—REREA(IEA)40w-B4T & 4| B 8,000 32,000
F 4 MEELT) 16| & 1,600 25,600
FEEAT 4| & 1,600 6,400
P i ) 5| & 1,600 8,000
B4R 4 7 Mm) 61.0] m 1,800 109,800
837w “l & 800 27,200
LEDHBBA20wE! (FE1) 4| & 3,500 14,000
N—RBBH20w-3KT & 2| & 2,690 5,380
HELT 2| & 1,800 3,600
B 672,697

MET LK VE

No.2



(& B 5 AER)

No. 22 L 43 B |\ ¥ E|EBEA B ff & &8 i
(REEREIS)

2 | BNk
EIRE (CP31) 300| m 396 1,188
ERE (GP36) 56.0 | m 550 30,800
BIRE (GP54) 400| m 1,012 4,048
E#RIV5.55q EA 3.00| m 62 186
ELRIVE0 ER 120 m 185 2220
F—7'l_CVT-22Sq _|&®X 180 m 318 5,724
=7’ _CV-5.55q-3C [&K 300| m 185 555
h-7'_CV-14Sg-3C |EX 380 m 265 10,070
Epak:d f‘:ﬁ?omzoo 1| @ 20,000 20,000

it 74,791

(FERETISR)

3 |BBEERE
BIRE (GP22) 390 m 352 13,728
13—k 4| & 1,500 6,000
BF&t 5| & 1,800 9,000
AE—H— 1| & 1,800 1,800
IHFFETEL/LAN 1| & 20,000 20,000

Bt 50,528

(REERELSE)

4 | B8k KEFREER
EBIRE (CP25) 800| m 308 2,464
EBRE (GP22) 390 m 352 13,728
F—7' _HP1.2-5P BN 760| m 120 9,120
BRI 5| & 982 24,550
wnaen 2| & 4,568 9,136
2{EH PRIERSER BER 1] & 59,000 59,000

FIEM FHOKDE AdtEgs]

No.3



(& B 5 AER)

No. 22 o 43 =B B @ & &8 i
it 117,998
(I EHETSE)
5 |BITERIE
EBHREGPT0) = 600 m 7.458 44,748
EBRE(VE22) B 800| m 1,156 9,248
B8 EM-IE1.6mm |ER 500 | m 302 1,510
E#R EM-IE8Sq BN 8.00| m 522 4,176
E{ EM-IE8Sq BrE 400| m 522 20,880
EHR EM-IE8Sq x 180 m 480 8,640
-7 VEM-CET-38Sq |ER 120| m 3.941 47,292
-7 VEM-CET-38Sq |%£% 200 m 3,941 78,820
-7’ VEM-CET-38Sq 900 | m 3,546 31914
-7 VEM-EEF2.0-2C |X 500 | m 441 2,205
}yt438Sq 200| m 1,019 20,380
7'k v 2400x400x200WP 1] & 47,098 47,098
AL EE 1| & 198,000 198,000
37—k 12m—19cm-350kg 1| & 70,100 70,100
BEER B 1[I BE1EEY 1] & 50,000 50,000
EhTE 2| & 13,231 26,462
Bt 661,473
(INEEHETS)
6 |BhHERTE
-7’1k _CVT38 FEP 290| m 424 12,296
18 12,296
(NEERETE)
7 |Bh N ERTE
EIRE(GP36) 120 m 3,646 43,752
FIEM FHOKDE AdtEgs]

No.4



(& B 5 AER)

No. 22 L 43 B |\ ¥ E|EBEA B ff & &8 ® &
-7 WEM-CET-14Sq_|&®R 600 m 2,044 12,264
-7 VEM-CET-14Sq |%EZ% 200 m 1,809 36,180
-7’ WEM-CET-14Sq [X 120 m 1,809 21,708
7-7WEM-CET-22Sq |EWR 6.00| m 3941 23,646
*y1438Sq 200 m 1,019 20,380

Bt 157,930
(INEERMETS)
8 |EhHEkfHE
F=7'k_CV-14Sg-3C [FEP 290 m 265 7,685
&t 7,685
(INBEERETE)
9 |BEEEEIE
BIREPF28) 120 m 968 11,616
71k 5 2200x200x200WP 1] @ 18,637 18,637
7o OEBETEE 1] £ 10,300
&t 40,553
(N ERETE)

10 | B B A K SR R0 % (6
EIREPF22) 500 m 968 4,840
=7y _EM-HP1.2-5P |CD 500 m 1,042 5210
HE2ER PR2ESER [BXEEATIA 1] & 116,820 116,820

Et 126,870

11 [FEH
EETERA 069 | m3 6,290 4,340
BEETEIA 0.13]| m3 6,290 817
HIRLTTER 0.05] m3 6,290 314

MEf £HOKVHE NILEEER No5



(& B 5 AER)

No.| & FR 2 | B E|E4M4 B ff ® % ]

EE<TEW 069 | m3 1,250 862
R BB 0.13 | m3 3,160 410
HSRLT @i 0.05 | m3 2,500 125
EE<T S 069 | m3 2,400 1,656
EEA S 0.13 | m3 7,200 936
HSA{T 5 005 | m3 12,000 600

Bt 10,060

FET b E ALEER

No.6



(3 B BINER)
No. £ Fh HE | B = %A &8 s &
C2 |HHiEkfs T (ERE D)
1 |#aKERlE #ek 1 Fa 350,154
2 |HEKERTE #hex 1 2 181,640
3 |BLERE BE 1 o 207,650
4 |faKERIE W= 1 2 242,707
5 |HEKERE BE 1 K 515814
6 |#amxiE BE 1 2 6,780
7 |HREE HWE 1 R 122,259
8 |ZEFRRE W= 1 2 609,580
9 |BREIE BE 1 - 58,100
10 |Fe4 w0 1 = 297,395
B 2,592,079
MECH $H5<0iE ARG




(48

H Al AER)

No.| A R i W = |BEAL B fl & fi
1 |#6KEkim #HE&
i Er = 4 HIVP
BEIEEE-VE #HEE |25 #hdp 220| m 1,700 37,400
1k 7k4e 25A 1| @& 6,350 6,350
GV(10K-$8L-R) 25A 1| @ 6,350 6,350
EKIFERAS 25A 1] @ 9,184 9,184
NIVTRYHPR 25AF(VC-P) 2| & 25,800 51,600
BKEFERYIR 25AF(MC-1) 1] @& 119,000 119,000
TIE 1 26,000
ELEHEHRE 1] 3,570
#KEATE 25A 1] = 90,700
B 350,154

FIEHEL IS A R ER

No.




(48

H Al AER)

No. £ R 1 B = |EAL B B8 fid
2 |HEKERE #hEk
VU
EEIEE-LE FE% |150 #hech 6.00| m 7,060 42,360
TI= 1] =% 5,380
A \—rkfE 1] =& 3,900
FTAEEEHRISE 150A 1| = 130,000
§ 181,640

FIEHEL IS A R ER

No.




CIERZEN)

No. % PR i 2 |H E|BEAM B & % fi&

3 |BERE BE
FRXEREE O—&205% 2| %8 12,700 25,400
RAXERBE a—4>9x% 5| #A 15,100 75,500
RE/MER 2593V ITR 3| f& 9,320 27,960
SR 6| @& 5,640 33,840
BEBRELEE 2| @ 8,990 17,980
FRFRE 1| @ 2,450 2,450
i Ui 2| @& 8,990 17,980
2B OBE W=1500 1| @& 6,540 6,540
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